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ﬁ Instructions :
( Hindi and English Versions ) i) This question paper is divided into three
parts, A, Band C.
g : d9 9o 15 e ] [ T'ﬁﬁT 70 ii)  First question of each part is multiple
o e & 15 faee adentaal ot 9vEaT 9eH W choice type. Four alternative answers are
foo Frvifa & given in each. Select the correct answer and
Note - First 15 minutes are allotted for the write down in your answer-book.

candidates to read the question paper.

fider - i) a8 weAuR d9F @vel ‘&, ‘@ e ‘w H

ili) Attempt all the questions of each part
together at one place. Each part should be

fersmifora €1 attempted on a new page.

ii) WS WUE F U WA SgoFedd € iv) All questions are compulsory.
o ar foweg I @ €1 wE fasea v) Marks of the questions are mentioned
ROETS AT W—H%HET H %!ﬁﬂl?l against them. | _

iii) Ud® @US & TH YT UH 9™ BT vi) Illustrate your answers with neat and
HEYGF ¢ YAE TGS Y U8 W URTY labelled diagrams and chemical equations
T S wherever necessary.
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HqUug - &
PART - A

1. ) 20 I weg O 9 ITA JUOT S GEA

o)

mn

11029

20 9t = g W fa s = wiates
AT &

i) 10 ¥ g W <doT F G

i) 10 [ g 9 IO F WEA

iii) T W |
%?ﬁ@ﬁﬁ 1
R ¥ A9 gHE Ft HOT F R W) oEd
31firer et T & '

iy T,

ij) dtem &1

ijii) - & T

iv) ST I 1
foreger ifd ® TORAROT BT @

i) e Sl w1 At SHei A

) it Sor o foEE FeN A

i) iR e W qaEs E i
iv) T FHei W e I H 1
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i) 484 Q
iii) 22000 Q
iv) 484 Q.

The image of an " object
mirror of

1
placed

20 cm in front of a convex

20 cm focal length, is formed
i) at a distance of 10 cm behind the

mirror
ii) at a distance of 10 cm in front of
the mirror
iii) at infinity
iv) none of these. | 1
The maximum deviation through a
prism in the transmission of a ray of
white light, is
i) red colour

ji) yellow colour

iii) green colour

iv) wviolet colour

OOE
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c) The conversion in electric generator is 824(BK) - 6 '

from ) 3T o= gRT FEtaa wfafs =9 6t S

1 electrical ener intc mechanical .

) &y 1 o st@ ¥ TEE) 2
energy

iij mechanical energy into electrical 2. a) Describe any two uses of a concave
energy IMIrror. 2

m_J mechanical energy nto chemic b) What is the defect of long-sightedness ?
energy How is it eliminated ? 2

iv) chemical energy into electrical
c) Show the formation of magnified image

energy 1
by a convex lens by a ray diagram. 2

d) -The resistance of the filament of

220 V-100 W electric bulb will be 3. W 20,307 4 QF vyl F FEER w9
iy 220 _ ' 3 wrer o &1 < e B 04 S
ii) 484 Q q T IS AET €1 92l ¥ 9= | watted
iijj 22000 Q
YRT T TTOTAT i | 4
iv) 48-4 Q 1
o, %) ofadd Tdur % fH=l I ITET W avH Hqar
I & 4 @ wimeE F ufd Ahs 100 T/ T
=) & gfeey wa & 2 TER FERV R Rd @ @ B e & Red 3 e
€ ? 2
| EvaT @g Wit 4
'1022 esn [ Turn over _
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@) % aEdT % fEn fefa) uw s
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]

11029

ST H 10 Uit F @ W weq fem 3w
FIT W AR wiafas 20 @ W g0 w

FFAT 81 a9 F407 &t agpar e wg #ife )
4

HLUET
vk freT @ T % srgads w9 G R g
HHSAET | AT Hiv7 au fagem s fox |
femmu | 4

Resistors of 2 2, 3 {2 and 4 €2 are joined
in parallel. This combination is joined
with a battery of 24 volt. Calculate the
current flowing through the battery in

this combination. 4
OR

second of heat 1s

100 joule per
produced in a resistor of 4 Q. Find out

the potential difference between the

ends of the resistor. 4

®SE I Turn over
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b)

8
Write down the laws of reflection. Ap
object is placed at 10 cm from g
concave mirror. If a virtual image is
formed 20 c¢m from the mirror then find
out the radius of curvature of the

mirror. 4

OR

Explain the refraction phenomenon of

light through a prism with diagram.

Show the angle of incidence and angle

=

of deviation in the diagram. 4
4. foga Az w1 AHiha @ R | WS [Ger
T HEATER T ST | 7

HAGAr
faR[a r=ehia IOT &Y HeAl #91 ¥ 2 & |Hy g
FUSeAl ! FeIAl ¥ UG uRT 37w @ = e
HHeATRU 7
4. Draw a labelled diagram of electric motor.

Clarify its principle and working process.
OR
11029 ®OE
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What is the phenomenon of electromagnetic
induction ? Explain the process of the

formation of induced current with the help

of two coils placed close to each other. 7
gug - |
PART - B
5. &) WU €
i) . C,H,OH i) C,H,OH
iii) C,H,OH iv) C,H,OH 1
K
@) g ¥
i)y K ii) F
iii) Al iv) Na 1
M) &2 ST § grEge 19 A
j e ii) HAE
iii) Qifead jv) e 1
5. a) Propanolis
i) C,H,OH iij) C,H,OH
ity C,H;OH iv) C,H ,OH 1
®OE [ Turn over
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b) Non-metal is
) K ii) F
iii) Al iv) Na 1
C)  ernemeieens forms hydrogen gas with cold
water
ij Iron ii) Copper
i) Sodium 1v) Carbon 1
6. ®) wURY Ik g wIR @ Gy wd ST
igiicied | 2
T) ISy fuferar =1 ush IRI0T FRT FHEAEC
2

m
6. a)

b)

c)
11029

HUSANE T A a9 a1 g9 Groit &1 g
ot fafag 2

Write the method of preparation and

uses of Plaster of Paris. 2

Explain Redox reaction by giving one

example. _ 2

Write Mendeleev's Periodic law and two

characteristics of this table. 2

®@eE
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_ 2
@) AT T o e weeme 2

7. a) Explain the versatile nature of carbon.
2
b) Differentiate between Calcination and
Roasting. -2

8. ftr=afefes w feunh fafag -
F) HEHS AR W i afafrad 2
@) gEsrdy ol 2
M AREA 99T AU @ e e 3
Jgar

t{?}q‘iﬁaﬁfaﬂ.mmﬁa; sfafrarail & Tt
fofigu 3R TaF o suaEnil =t of ffeg 4 + 3

8. Write notes on the following :

a) Oxidation = reactions in organic
compounds 2
2

b) Homologous series

11029 ®OE [ Turn over
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c) Cleansing action of soap and detergent.

3
OR
- Write equations of four chemical reactions
and three uses of Ethanol. 4+ 3
HUg -
PART - C
9. F) TIHA H geh Uk oF BT WO T S GeEd §
iy  dor i) EEd
Ciid)  Iewe iv) aftEeT) 1

) WO QiNer & fou stevas ©

i) HEA SEHTFEES Ul 5o

ii) SFIRITRE

iii) g T WHTE

iv) TH | T | 1

M) 37T S YHe gRT 8T §

iy ordEmH )

ii) ded

iii) weHfeaT o

iv) wiremtar 9 1
11029 PRE
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WY § g &
) SRES i) emE
iii) 3w iv) 9T 1

The kidneys in human beings are part
of the system related with

i)  Nutrition |

ii) Respiration

iii) Excretion

iv) Transportation. | 1
The autotrophic mode of nutrition
_requiresn |

ij Carbon dioxide and water

iij Chlorophyll '

iii) Sunlight

iv) All of these. - 1
Asexual reproduction takes place
through budding in

i) ~Amoeba

iij) Yeast

iii) Plasmodium

iv) Léishmania. 1
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10. &)
o)
m
10. a)
b)
C}
11. %)
11029
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What is present in pollen sac ?

1) . Calyx

ii) Ovary

iii) Owule

iv) Pollen grain. 1
THORTTOT a1 GRaRrTor § fapsdg wife 2
I IETOT w41 SAEvaH € 2 2
st AweT w4 2 3[EI0T 9T EEg A
HHATET | 2
Differentiate between self pollination an
cross-pollination. 2
Why s conservation of forest
necessary ? 2

What is autotrophic nutrition ? Explain

in brief with example.
MTATESETH Te 9 # 3R Sa9u | -
ST '
= 4 ReE R W oW b
FIN F| o7F HE F UF A10itea o S0
4
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@) e w dfe feaoht fafag - 2+ 2
i) SIET e
ii) 9RER AEeE
SIEIHT-
dafera s W e faaror e 4
11. a) Give difference between breathing and
respiration. 4
OR
Draw a labelled diagram of L.S. of
gynoecium to show the fertilization in
flowers. https://www.upboardonline.com 4
b) Write sht;r'iz notes on the following :

11029

. 2+ 2
e v
i)  Double circulation
ii) Family planning.
OR

Give an account on balanced diet.

4
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- following :

16
fvge ¥ Frendt ® UH-UH ISR Wi s
HITTT | 7
AT
ot @t i R et - 34 + 34
i) HIHY 1 T iR (o

ii)  gFRI] ()
il) G @ Ue G S |

Explain Mendel's laws giving one exampl

c
for each law. :

=
OR

Write short notes on any two ‘of the

3% + 33
i) Labellegl diagram of pollen grain
ii) Nephron

i) Food chain and food web.
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